Nus TS |
2 12,5 { 5 TR
)Y 0,55 | |
b‘q f i . “2@;? i pa = ___—_21—’
Vs 16 MIX-10 -~ 7-
%zz« 0,‘55 - 7 seerm

Costtss 00 ot
N Cy o 1%
XAQ/ be By s o 5
10 %z {(5 //%{

e | )
4) F n(cl=04; nih)z02 ' nil-12>92

l
SISNU — 0{;
Q) &0, 52 =121

121.0,0992 = 12

eL
- e /[
F E 24 Wﬁ%mw&@/tmm |

p
oy .
Ui F - qpmepamuy "
) o
Jw T P
H
S
1o N g
AT
- 19-2

®@Wé0ﬂ QMMAMR il AU epu e enocBes
@/Vyé@ M= Nhivon™ 46
e SRt o fPIG agiabsinse  pacibonsd
Uu
i G //p\( oAl W
S M, *MMW/LW’ AP

/‘&/fg'%o»ammw é@gg 75
i UWT A o ”m
@ % H";r’Oq (’ozNH'_z, —’7(”“‘1)7, MPOL, 7 W 3 }'{LD

é\;Vﬂ/u = %i..‘-ié“é—_n_i'r =0, (5 AAGA



YW= -2Lba | ooy Sm b by = 9Ls Aa0s _

m ——PG\ ' : b‘?q@
Q ’L(A/MH)z“POq :/L//5DOU'=0,/ Lo 100 7 ARG

% n H}PO\,( =

'd

jZ A 7/
) / 50 futtly = O hOAb 10
o) = — = 7'52’5&‘:;/ ol = U5 ol
:ﬁ m (NUg)2 U PO, = ¢32 2 fUtodb - 0,1 halp -
) 1 (WMY NP0, =% npity = 0,070 wie
9 (M2 M PO, = 0 035 uioute - (32 afutote = 39,

7322

(0) 22,4 1 |
| B3 X KT8 ﬂf’u
W) Poeard  prpr=100425S2 = 109, 562 -
0 Q  _ 9% ,
”")ZHPO«.‘ - 192,582 '(00% = 9{5570
Ombern) 9,65

Cont  phnnromed |

\Fels + 30s 00— Fopu), apuyce 75

2) W80 + Uiy =g (Mhs)o T 50, 15 7
10-4% v

bFffzi WI W i »
D HEos, + 110, — LT 05 #8601 /4 t) ey hoteispan |5
‘/f%) 224600271 c?éi / E
Aepnoro ! 2§ .
Gpespamsss ncsppe: Mo Wignts L1/
Pesopey ! sy /;/ywm - EAL/
bt~ [Pyeeormols T K/



